ATOMIC ENERGY CENTRAL SCHOOL NO -2, MUMBAI
MULTIPLE CHOICE QUESTION EXAMINATION - OCTOBER , 2023
Class Il Name: Sec-__ Roll no- Marks: 80

1) What carries the passengers and the mails?

A) Cars B) Trains C) Trucks D) Boats
2) Beginning of the day is called

A) Dusk B) Dawn C) Husk D) Musk
3) When do the trains run?

A) Atdawn B) Atdusk C) At Night D)
Throughout day and night

4) Steamer is a transport.

A) Land B) Air C) Land and Air D) Water

5) The rhyming word of train is
A) Crane B) chain C) main D) all the three

6) “Through day and darkness”. Darkness in the above lines
refers to

A) a tunnel B) metro C) night d) a bridge
7) The birds are calling

A) chatter - chatter B) tring-a-ling  ¢) meow-meow
d) chirrup-chirrup

8) Newspaper boy comes on
A) tricycle B)car C)bus D) bicycle
9) IS asking the road to wake up.

A) Newspaper vendor B) Crow C) Children D)
Vegetable vendor




10) Plural of radish is

A) radishs b) radishes c) radisheses D)
radishss

11) The antonym of foolish is

A) unwise B) silly C) senseless D) wise
12) A person who is selling something is called a

A) buyer B) shop C) vendor D) market
13) “Tramp, Tramp,Tramp” is the noise made by the

A) Children’s bag B) children’s bottle C) children’s
shoes D) children’s talking

14) Choose the correct spelling.

A) potatoes B) patatoes C) potootoes D)
potaetos

15) Choose the correct punctuation mark.

Who is coming now

A). B) ? C): D) ;
16) Synonym of silent is

A) quite B) quietly C) quietness D)
quiet

17) Play with toys.

A) my B) me C) mine D)
myself

18) The poet of the poem “Trains” is

A) James S. Tippett B) Poile Sengupta  C)
Rachel Field D) Jane Nigro
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19) The train whistles

A) fast B) gate C) loudly D)
road

20) What are the precious loads that the trains carry?

A) passengers B) parcels C) letters
D) All the above
(21)T3TTS T gehel TehdTal TTell?

A) 31acdr B) ¥c C)drdcir D)Yacir

(22) 3G of FHYST gl IW@M

A) ITHAT H B) A% U C)IRH D)
cao U

23)m?ﬁa?rarﬁtﬁgmﬁ?€§w‘r§§?

A) 3T aTell Sl B) 93 ST &l C) ar&di sl
D) #1S I

(24) VST U3 I Tohd T T WATAT g A?

AT B)eITel C)slell D) &Is s @ra =g

(25) FATSHHA STl T W AT ITd &2

A)hH-Hg DERIK:2] C) Shgl-ahgl
D) $a-he

(26)FASH 3R FH-FATAT &I hieT FeT?
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A)fRraera B)d=ar C)IT&T D)f&T
(27) &SI FAT TOFAT= ST 38 3 2

A)dTSRT B)HahT C)dlg D) Trad
(28) ITESI Bl ST Tg A?
A) TR BER  C)gA« D) H

(29) 37eT9T QrsE, YgdTaAT |
ARIE  B) el C) W D) Jmar
(30) ITESI HITH 31T HT AT Wt A 2

A)STSRT B)dlg  C) #HFH D) drdel

(31) 376197 2leG, UgAT=AT |

ATIE  BFWHS  C)FAIg  D)FIST
32) A& FAT & Tl §H FIT STAATH hld &7

A) Ihell B)&HSEI  C)FI D) Ferd

33) WS FHIST oY Fohg Tt 3mam gemm?
ARTIAR B)HITeTdR C)erfaar
D)3TT 81 A& gram

34) QI QTeg, Tg =]

A)gered B)9RraT C)yermrer D)9ere=dr
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35) ST &l AT FAT G ?
A)fYOTAT B)STelet C)3TeT D) f3Q

36) 37clT QT ggdT=T |

INEET!S B)SeleT C)ehsTer D QY

37)HAYST T HcTold FAT G |

A) G B)3TeT C)fsershe D)eeT
g)fearder |

A) I B)3TERT C)&ald D) RRmEr
39) 3TeT WG &H fohdsh I STTd 872

A)AY  B) TR RIgHE  C) FFAR D)
A

40 (371CT gl T g7
A) TFHT T B) 3Tfha #H C) & A
D) 31&dsel H

41. What comes next in below pattern

18, 24,30,

A.32 B. 38 C. 40
D. 36

42.27x11



A. 305 B.308 C. 297
D.408

43. Match the column

Column | Column Il
(p) 6x7 (1) 55
(q)4x9 (ii) 42
(r)4x7 (iii)36
(s)5x 11 (iv) 28
A. p->iii, g ->ii, r-> v, s ->i B.p

> i, g ->hil.r->1,s->1v
C.p->1ii,q->iii, r->1iv, s ->i D.
p->i, q->.r->1v,s->1i

44. Spandan brought 23 dozen of eggs.. How many total eggs
are there?

A. 275 B. 562 C.276
D. 376
45.1000g = kg
A.1000 B.1 C.0 D. 500
46. Y2kg = g
A.250 B. 1000 C. 500
D.1

47. There are seven fans in a house. Each fan has 3 blades.
What is the total number of blades in all?

A.20 B. 21
C. 23 D.2
48. Which of these will be heaviest one
A.Truck B.TV
C. Man D. Laptop

49. 7459 +322¢-=



A. 1kg 229 B. 1kg 679
C. 770g D. 2kg 779
50. Ram's father brought 1 kg potatoes , 4 kg Carrot and 3 kg
Onion. How much is the total weight of the vegetables
A.7 kg B. 8 kg
C. 5kg D. 6 kg

51. 1 mango weight 100 gm, how much dozen of mango
weights
A.1kg 200g B.1kg C.120gm
D. 1020 g

52. Which of the following is true
A.1 kg <600g B. 1 kg 200 g > 1200 kg C.5
kg232g<6kg D.238kg>23800 kg
53. Which of these is least weight
A.200 g B. 199 kg C.1kg?22¢
D. 900 g
54. Two and half kilogram = grams
A.2001 g B) 2250 ¢ C) 2000 g D)
2500 ¢
55. 1kg200g+2kg700g+5kg 132 9=
A.9032 kg B.932¢ C.8kg32¢g
D.9kg32¢g
56. 4 x 17 isequal to
A.38 B. 68
C. 28 D. 47
57. 11+11+11+11=4x___
A.4 B.10 C. 1
D.5
58. 24x16=__




A.380 B. 284 C.
384 D. 286
59. 999¢g-1729g=
A.800¢g B. 1kg C.273¢g
D. 8279
60. 46x12=_
A.512 B. 452 C.
552 D. 486

Q61. Who is always anxious to listen to the narrator’s tales?
A) Nani B) Ravi bhaiya C)Papa D) Mama
62. What was the name of the sparrow?

A)Gudi B) phudgudi C) choti D
rani

63. What does Ravi bhaiya use when he goes out?

A) A white cane B) A walking stick C) A crutch D) None
of the above

64. What game is suggested in the chapter ‘Sharing our
feelings’ to sensitise children to the problems of the blind?

A) Blindfold B) Charades C) Pictionary D)
Memory game

65. Which of the following is a plant-based food item?
A) Fish B)Egg C)Milk D) Spinach
66) We get salt from

A) sea B) plants C) animals D) eggs
67) IS the father of Braille script.
A) Louis Braille B) bhanate C) servant

D) The maid



68) What did the crow propose to the sparrow?

A) To become enemies B) To become fast friends

C) Steal others food D) To lay eggs together

69) What did Bhanate need from the blacksmith?
A) Apot B) Atrowel C) Clay D) Water

70) What did Bhanate want to do after filling the pot with
water?

A) Drink the water B) Take a bath C) Wash its beak D) Eat
Phudgudi’s egg

71 . What did Phudgudi lay?
A) Astone B) A flower C) Anegg D) A leaf

72. What does the potter need to shape thepot?
A) wheel B) Colour C) Sun D) Vessel
73) What did people make pots of in the beginning?

A) Wood and clay B) Stone and clay C) Metal and clay
D) Glass and clay

74. Why do clay pots not get spoilt by water?

A) Because of the materials used in making them B)
Because they are baked in a kiln

C) Because they are coated with a special substance D)
Because they are not used for storing water.

75) Who are the characters in the story mentioned in the
chapterMaking pots?

A) A sparrow and a parrot  B) A sparrow and a crow
C) A pigeon and a crow D) A pigeon and a sparrow



76) Which of the following is a part of the plant that is eaten
as food?

A) Meat B) Fish C) Flowers D)
Milk

77) Which of the following is a plant-based medicine?
A) Honey B) Fish oil C) Chickensoup D)
Ginger

78) What did Bhanate use to fill water in the pot?
A) River B) Lake C)Pond D) Stream

79 )Which of the following is a plant-based remedy for a
toothache?

A) Turmeric B) Chicken soup C) Fish oil D) Lemon
juice

80) What did Bhanate need from the potter?
a) Apot b) Atrowel c)Clay d) Water
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